
OM = xmono. amono + zmono. cmono

and
OM = xfaults. afaults + zfaults. cfaults

= xfaults. amono + zfaults. (cmono + (cmono*sin(θ)/a ).amono)
= [xfaults + zfaults.(cmono*sin(θ)/a )].amono + zfaults. cmono

amono = afaults

cfaults = cmono + (d/a).amono

= cmono + (cmono*sin(θ)/a).amono

Norms of the vectors:
afaults= amono= a
cfaults = cmono*cos(θ) = cmono*cos(β-90°)
d = cmono*sin(θ) = cmono*sin(β-90°)

Position M(xfaults; zfaults)= M(xmono; zmono)

Vectors:

So xmono = xfaults + zfaults.(cmono*sin(θ)/a)
zmono = zfaults

or: xfaults = xmono - zfaults.cmono*sin(β-90°)/a
zfaults = zmono

Transformation of a monoclinic cell into a FAULTS cell
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Note that when starting from a triclinic cell, one should calculate cfaults from β and α , as well as the xfaults and yfaults atomic positions


